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SEMMOHERXREHRFE
HERXe—2 BEYI_ AT BTSN SHRICEHT HZRIEBEA/) | s#AzEr | 7uksi/E
BIEMBOWME | EHES 09751001 [ &me | [T [ FisEth [ FRE A W AR
SERMO TiRICHET 51 H# SEMHEA
;ﬁgg TEEOBHDESLADKES TEEDHBEESENDRES TEZEOBHOESLADKRES TREOEBESLIDKRES
B2 oma O TR B TR W | = | T [PRRPER R B [PREPERLTS e
; 100kN/m%&HBZ5| Loo| 0oo~ 304 148.32|3mERBAB| 000~ 1o00| 344 17.41{ 100kN/M%#BZ 5| 1.00| 1093 ~ 4200 148.32|3m%ERBZ D | 4000 ~ 4200 344 1741
Zzh st 100 304~ 1082 10000 TS | 100~ 1082 300 1516 Zn st 100 500~ 1093 100001 TN | 500~ 42000 300 1516
, 100kN/m%E#x 5| 1L0oo| 0oo~ 323 151.71|3mERBZ S| 000~ 034 320 16 16| 100kN/M%E#BZ 5| 100| 1074~ 2805 151.71|3mERBZRD | 2500 ~ 2805 320 1616
zhst 100| 323~ 1102 100.00 Fh Lot 0384~ 1102 300 15.16 zTh st 100| 500~ 1074 10000 TSN | 500~ 2500 300 15.16
5 100kN/m%Z#BZ25%| 100 000~ 354 157.21|3mEHBRB| 000~ o061 335 1693 100kN/ Mm% 8% % | 100| 1085 ~ 3320 15721\ 3mERBAD | 2500 ~ 3320 335 16.93
ZThish 1.00| 354~ 1133 10000 TS | o061~ 1133 300 15.16 ZhLsh 00| 500~ 1085 10000 FNSY | 500~ 25000 300 1516
p 100kN/m%# % % Lo0| 000~ 362 158.54|3mEBZD| 000~ o057 332 16,79/ 100kN/mM#E#BZ % 100\ 10.77 ~ 3187 158.54|3mERBZD| 2500 ~ 3487 332 1679
Zzh st 100 362~ 1140 100.00| TS | 067~ 1140 200 15.16 Zhn st 100l 500~ 1077 10000 FNUS | 500~ 25000 200 1516
5 100kN/m%HBZ 5| 1L0oo| 0oo~ 356 157.42|3m%E#BZD| 000~ 038 320 16.18| 100kN/mM%#8Z % | 100| 1055 ~ 3577 157.42|3m%ERBZ B | 2500 ~ 3577 320 1618
Zzh st 1.00| 356~ 1134 10000 FNASY | 038~ 1134 300 1516 Zhn st 100l 500~ 1055 10000 FNSY | 500~ 25001 300 1516
p 100kN/mM%E#BZ 5| 100 000~ 260 140.87|3mERBRB| - ~ - - - 100kN/M%E#BZx 5| 100 1131~ 2286 140.873mEHBRB| - ~ - - -
Zh st 100 260~ 1039 100.00] FH L5 000~ 1039 297 15.00 ZFhLst 00| 500~ 1131 100,00 TS | 500~ 2286 297 15.00
100kN/ Mm% %3 ~ 3mEERD ~ 100kN/m% 8% % ~ ImEB25 ~
Thist ~ Thilst ~ FnLst ~ Fhst ~
100kN/m% B2 5% ~ 3mEHEAD ~ 100kN/m% B2 % ~ 3mEHZS ~
Thist ~ Thilst ~ Thn st ~ Thilst ~
100kN/m% B2 5% ~ 3mEHEAD ~ 100kN/m% B2 5% ~ 3mZEHEZS ~
zh st ~ zThs ~ zh s ~ zhos ~
100kN/ Mm% % 3% ~ ImEBZD ~ 100kN/ Mm% %5 ~ 3mEHEZS ~
zh st ~ zhos ~ zhLst ~ zh st ~
100kN/m%#B% % ~ 3mEERD ~ 100kN/m% 8% 3% ~ ImEB25 ~
Thist ~ Thilst ~ Th st ~ Thist ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m%#BZ5 ~ ImEHZD ~
Thist ~ Thilst ~ TnLst ~ Thilst ~
100kN/m% B2 5% ~ 3mEHEZD ~ 100kN/m% B2 5% ~ 3mEHEZS ~
zh st ~ Ths ~ zh st ~ zhost ~
100kN/ Mm% %3 ~ 3ImEBZD ~ 100kN/ Mm% %3 ~ 3mEHEZS ~
Thist ~ Zhist ~ FnLst ~ Thst ~
100kN/m% 8% 3% ~ 3mEHERD ~ 100kN/m% 8% 3% ~ ImEB25 ~
Th st ~ Thilst ~ zhust ~ Th st ~




